normalized X?

107}

1

1

0*2

0—3

0 2 4 6 8 10 12 14 16 18 20

[ normalized x? probability |

\
HFH' !H'H\' H\HH\HH\EHHH\‘\HHHi 'HH il
L 0509 1

0
Na Prob(xz)
mmmm= DQM_TT__original
mmem DQM_TT__originalCustomized
wmmm= DQM_TT__nocutCustomized
A2 = 5F
- B E :
2 P FREREE
= — E B
< 2 3F Teeees
v = E :
o 2F AR
\2 1;_ ______
oF- Lo
_1;_. P
-2F :
-3 ;_ . .....
3 sl
E i i i
ie] ie] . .
T T H
4 @ P
N . § ¥ . .
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A A E
2 2 18f-
3w < 1.6F-
v v E
1.4~
1.2F
-
0.8f-
0.6F
0.4F
0.2F
ko) o GF
T T
o4 14
0.5F
3 0 -3
go 10 107 ! 15)’1
T AR(track, jet
g
A
.
2
.
o
o
v
=} .
I ;
o :
05f-----1 TUEFEREEE - - - - FEEEREEE
0 H
10" 10 10°




	Contents
	Page 1


